
  DEWALT D25052KT 

04.09.2015  1 

Nr. Artikel Beschreibung    Menge 
No Article Désignation    Quantité 

1  323489-00  KAPPE  COUVERCLE  CALOTTA  1  
2  579212-00  RING  BAGUE  ANELLO  1  

3  N163578  ROHR  TUBE  TUBO  1  
4  583890-00  KUGEL 7MM  BILLE 7MM  SFERA 7MM  1  
5  578387-00  UNTERLEGSCHEIBE  RONDELLE  RONDELLA  1  
6  871690  FEDER  RESSORT  MOLLA  1  
7  N163521  RING  BAGUE  ANELLO  1  
8  N163522  UNTERLEGSCHEIBE  RONDELLE  RONDELLA  1  
9  N163529  WAEHLER ZSB  S/E SELECTEUR  ASS. SELETTORE  1  
10  N374339  EINSATZ  INSERT  INSERTO  1  
11  N132310  STIFT  GOUPILLE  PERNO  1  
12  395460-00  FEDERFUHRUNG  GUIDE DE RESSORT  GUIDA MOLLA  1  
14  N364905  ZSB GEHAEUSE  S/E CARTER  ASS CORPO  1  
15  N132542  DICHTUNG  JOINT  GUARNIZIONE  1  
16  N351959  FILZ  FEUTRE  FELTRO  1  
17  N271799  UNTERLEGSCHEIBE  RONDELLE  RONDELLA  1  
18  N170498  O-RING  JOINT TORIQUE  ANELLO TOROIDALE  1  
19  N038257  FILZ  FEUTRE  FELTRO  1  
20  N164701  DICHTUNG  JOINT  GUARNIZIONE  1  
21  N169939  KAPPE  COUVERCLE  CALOTTA  1  
22  N364906  GETR.-GEH. ZSB  HOUSING GEAR  ASS. SCAT. INGRANAGG  1  
23  N231636  HALTERUNG  SUPPORT  SUPPORTO  1  
24  N351960  HALTER  RETENUE  PORTAUTENSILE  1  
25  324006-15  SCHRAUBE M4 X 20 ANU-LOCK  VIS M4x20 ANU-LOCK  VITE M4x20 ANU-LOCK  5  
26  324006-02  SCHRAUBE M4x25  VIS M4x25  VITE M4x25  1  
30  N272900  KONDENSATOR  CONDENSATEUR  CONDENSATORE  1  
31  N364920  SCHALTER 240V  INTERRUPTEUR 240V  INTERRUTTORE 240V  1  
32  N364922  LITZENDRAHTSATZ  JEU DE CABLES  ASS. CAVETTI  1  



  DEWALT D25052KT 

04.09.2015  2 

33  330065-08  SCHRAUBE M4 X 18 T20  VIS M4x8 T20  VITE M4x18 T20  18  
34  N364910  GRIFF ZSB  S/ENS POIGNEE  ASS. IMPUGNATURA  1  
35  584090-00  KABELTUELLE  PASSE CABLE  CORD PROTECTOR  1  
36  821070  KABELKLEMME  SERRE CABLE  SERRAFILO  1  
37  582319-31  KABELSATZ  CORDON  CAVO CON SPINA  1  
38  N159443  ACHSE  AXE  ASSE  1  
39  N106222  FALTENBALG  SOUFFLET  SOFFIANTE  1  
41  N106188  DRUCKFEDER  RESSORT DE COMPRESSION  MOLLA DI COMPRESSIONE  1  
42  N106221-01  FALTENBALG  SOUFFLET  SOFFIANTE  1  
43  N152623  STOP  ARRET  ARRESTO  1  
44  N376455  LAGER,KUGEL  PALIER, BILLE  CUSCINETTI, SFERA  1  
45  N364911  ANKER 230V Inc 44,46  INDUIT 230V Inc 44,46  INDOTTO 230V Inc 44,46  1  
46  605040-02  KUGELLAGER 607 (7 x 19 x 6)  PALIER 607 (7 x 19 x 6)  CUSCINETTO 607 (7 x 19 x 6)  1  
47  870052  HUELSE  DOUILLE  MANICOTTO  1  
48  N364913  FELD 230V  CHAMP 230V  CAMPO 230V  1  
49  N364915  KOHLEPLATTE ZSB Inc 50  S/ENS BALAI PLAQUE Inc 50  ASS.PORTASPAZZOLE Inc 50  1  
50  N379404  KOHLEPAAR 230V  PAIRE DE BALAIS 230V  SPAZZOLE ( X 2 ) 230V  1  
60  326467-00  SPERRKLINKE  DETENTE  DENTE DI ARRESTO  1  
61  N180503  HEBEL F/R LEVIER F/R  LEVA F/R  1  
62  N364907  ZW.GETR. ZSB  S/E AXE INTERMED.  ASS. INGRAN.RINVIO  1  
63  N184006  KRAGEN  COLLIER  COLLARE  1  
64  N203772  STIFT 36x4 GOUPILLE 36x4  PERNO 36x4  1  
65  N184007  EINSTELLGABEL  FOURCHETTE SELECT.  SELETT. A FORCHETTA  1  
66  N187775  DREHSTABFEDER  RESSORT DE TORSION  MOLLA DI TORSIONE  1  
67  N383652  PLEUEL  BIELLETTE  BIELLA  1  
68  330041-16  STIFT  GOUPILLE  PERNO  1  
69  N364903  KOLBEN  PISTON  PISTONE  1  
70  N128151  RING  BAGUE  ANELLO  1  
71  N133196  O-RING 14x3 JOINT TORIQUE 14x3  ANELLO TOROIDALE 14x3  1  
72  N183783  SPEZIALSCHEIBE  RONDELLE SPECIALE  RONDELLA SPECIALE  1  
73  N364904  KUPPLUNGSKIT Inc 74,70  KIT DEBRAYAGE Inc 74,70  KIT FRIZIONE Inc 74,70  1  



  DEWALT D25052KT 

04.09.2015  3 

 
 

74  N133027  FEDER Disc  RESSORT Disc  MOLLA Disc  2  
75  N133329  DISTANZSCHEIBE  ENTRETOISE  DISTANZIALE  1  
76  N074826  LAGER,KUGEL  PALIER, BILLE  CUSCINETTI, SFERA  1  
79  N364902  KOLBEN  COULISSEAU  MAZZA BATTENTE  1  
80  N132785  RING  BAGUE  ANELLO  1  
90  N132783  UNTERLEGSCHEIBE 20 RONDELLE 20  RONDELLA 20  2  
91  N132784  O-RING  JOINT TORIQUE  ANELLO TOROIDALE  1  
93  N364901  SCHLAGSTUECK  POUSSOIR  AMMORTIZZATORE  1  
94  N122319  O-RING 11x3.5  JOINT TORIQUE 11x3.5  ANELLO TOROIDALE 11x3.5  1  
95  N364900  SPINDEL  BROCHE  ALBERINO  1  
96  N364908  ZSB GEHAEUSE  S/E CARCASSE  ASS CORPO  1  
103  798846-02  TIEFENSTOP  JAUGE PROFONDEUR  ARRESTO PROFONDITA'  1  
105  N285806  SEITENGRIFF ZSB LED KT S/E POIGNEE LATER. LED  ASS. IMPUGN. LATERAL LED  1  
105  1005896-00  SEITENGRIFF Non LED K POIGNEE LATERALE Non LED  MANICO LATERALE Non LED  1  
800  870889-03  FETT 20g Paragon EP 1/2  GRAISSE 20g Paragon EP 1/2  GRASSO 20g Paragon EP 1/2  2  
801  487130-04  FETT, LUBRICANT, 10 GMS GLK-FLUID249NLGI000  GRAISSE 10 GMS GLK-FLUID249NLGI000  GRASSO 10 GMS GLK-FLUID249NLGI000  1  
821  N304339  AUFKLEBER  PLAQUE SIGNALETI  SCHEDA  1  
826  N304340  SCHILD  ETIQUETTE  ETICHETTA  1  
836  596005-99  S.T.CIRCLIP REMOVER  S.T.CIRCLIP REMOVER  S.T. RIMOZIONE ANELLO ELASTICO  1  
837  596006-99  S.T.CIRCLIP REMOVER  S.T.CIRCLIP REMOVER  S.T. RIMOZIONE ANELLO ELASTICO  1  
838  1003956-99  WARTUNGSWERKZEUG Fitting 'C' Clip   OUTIL D'ENTRETIEN  ATTREZZO DI SERVIZIO  1  
847  N365563  WARTUNGSSATZ 230V  KIT ENTRETIEN 230V  KIT MANUTENZ. 230V  1  
861  N298959  KOFFER  BOITE KIT  CASS.PORTA ATTREZZI  1  



  DEWALT D25052KT 

04.09.2015  4 

 


